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Find +he volues of r, h that

~will give Hhe \east amount
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_l He volume is 500
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Volume = Ttr*h + -;'--n'r
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rth + Zwr’ = Soo

Solve for h:
e h = 500- _32_; e
h= 5o 2 -
 nte 3
e | |
Su:Fo.‘ = 27r-h + 27r? + T
o
al 7 Pt
| cylinder helf boﬂ‘_om
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et ~ 37 to eliminate
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S = 7-""(%2"" -25'-?) + 3Pt



S’ = |loeo + 57T r_z.
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To fnd +Hhe critical points,
Sohe dS/dr = 0.
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S econd deri.vo'Hve $-est.

e - |
ds -~ 2000 + IoTt
d,r" r3 —_3_- )

Plug r= 4. S70F inte +his:

d®S _ 2o00 . 19 . 209434
dr* ( 4. 5'1'0?) 3 positive,

PosiHHve -dfl:-‘é- means r =4.5307
r

gives a local minimum of

surface area,
- Hoo

h = .

T (4.5707

= 4.5FIl em.
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2 Newiton's MeH\od..
® He.\Ps you _'F-incl soluhons

of e1ua.+ior\s +hat acre

foe hard 4o solve using

a\ac.bra elone.

e Tf the -=SslHema equahon
we wan¥ +o Solve looks
like:

f(x) = O
Hen Hie Of\\)( Lorenula Yyou
need  is:




® S‘l‘ePS ‘Fb(' Carryff\j IP%
Newdon's methed.

® Rearrange the =quation
So i+ loocks [(ike:
fx1 = O

® Coalculate £'(x)

® Guess a Solubon , X,
of +he CQuaHIOA f(’t)-:-" 0.

@ (Repeats). Calculate:
xln-l - xn"‘ f‘xn)

(%)
unti You 9e.+ He level of

occuracy \/6\4 ne ed.




